

USBC Certification: 591502 Lane Certification: 4414

President: Linda Evangelista

Vice President: Dinna Delarea

Secretary/Treasurer: Check Wong (415)613-2717 cwong49@comcast.net

Team Standings

Place	#	Team Name	Points Won	Points Lost	Last Wk WON	Last Wk Lost	Pins + HDCP	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total
1	6	The Oneders	20	8	4	0	36006	522	482	485	1489
2	3	Team 3	19	9	1	3	38591	563	514	526	1603
3	4	Team 4	18	10	2	2	37790	505	588	598	1691
4	15	Sloppy Strikes	17	11	3	1	36971	521	530	571	1622
5	23	Three Aces	16½	11½	4	0	37747	495	608	562	1665
6	20	Team 20	16	12	1	3	39726	551	620	537	1708
7	27	Team 27	15½	12½	2	2	33905	534	510	605	1649
8	7	It's How You Roll	15	13	4	0	40166	586	586	571	1743
9	1	Gutter Cleaners	15	9	3	1	38632	568	645	530	1743
10	28	Team 28	14½	13½	2	2	38826	562	567	551	1680
11	2	KC2	14½	9½	0	0	35064	0	0	0	0
12	11	Team 11	14	14	3	1	36312	584	552	632	1768
13	19	B.A.M.	14	14	1	3	36202	562	619	535	1716
14	18	Bowling Bad	14	14	2	2	34570	542	635	544	1721
15	12	Straight Shooter	13½	14½	4	0	38617	500	522	588	1610
16	8	Team 8	13	11	0	0	37352	553	556	533	1642
17	5	Lucky Strikes	13	15	0	4	36687	498	471	552	1521
18	9	Triple Threat	13	15	0	4	34261	489	521	576	1586
19	25	Buzz Ballers	12	12	0	0	43035	617	596	680	1893
20	24	Team 24	12	16	0	4	37222	511	567	525	1603
21	16	Team 16	12	16	0	4	34197	474	491	550	1515
22	14	Noot Noot	11½	16½	4	0	39333	558	545	605	1708
23	26	Murphy's Law	11½	16½	1	3	34315	574	522	481	1577
24	17	Yong Shi	11½	12½	0	0	33364	455	412	442	1309
25	21	Team 21	9	19	3	1	35435	612	562	620	1794
26	10	Great Balls of Fire	9	19	0	4	33422	448	436	429	1313
27	22	54%ers	8½	11½	0	0	34212	0	0	0	0
28	13	Bowludos	3½	20½	0	0	25844	0	0	0	0

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON		Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
17-18	Lucky Strikes	498	471	552	1521	0	<--->	Straight Shooter	500	522	588	1610	4
19-20	Team 11	584	552	632	1768	3	<--->	Team 20	551	620	537	1708	1
21-22	Murphy's Law	574	522	481	1577	1	<--->	Gutter Cleaners	568	645	530	1743	3
23-24	Bowludos	0	0	0	0	0	<--->	Yong Shi	455	412	442	1309	0
25-26	Great Balls of Fire	448	436	429	1313	0	<--->	The Oneders	522	482	485	1489	4
27-28	Buzz Ballers	617	596	680	1893	0	<--->	KC2	0	0	0	0	0
29-30	B.A.M.	562	619	535	1716	1	<--->	Team 21	612	562	620	1794	3
31-32	Team 4	505	588	598	1691	2	<--->	Team 27	534	510	605	1649	2
33-34	Team 8	553	556	533	1642	0	<--->	54%ers	0	0	0	0	0
35-36	Team 16	474	491	550	1515	0	<--->	Three Aces	495	608	562	1665	4
37-38	It's How You Roll	586	586	571	1743	4	<--->	Team 24	511	567	525	1603	0
39-40	Noot Noot	558	545	605	1708	4	<--->	Triple Threat	489	521	576	1586	0
41-42	Team 3	563	514	526	1603	1	<--->	Sloppy Strikes	521	530	571	1622	3
43-44	Team 28	562	567	551	1680	2	<--->	Bowling Bad	542	635	544	1721	2

Season High Scores

	Scratch Game	Scratch Series	Handicap Game	Handicap Series
<i>Men</i>	297 Christopher Lim	774 Nicholas Lew	313 Lloyd Aguirre	808 Nick Cicibrk
	289 Joe Loo	760 Joe Loo	313 Michael Huynh	797 Benjie Aldeguer
	289 Bryan Kang	736 David Chen	309 Christopher Lim	796 Joe Loo
	287 Lloyd Aguirre	736 Nick Cicibrk	307 Chris Love	794 Lloyd Aguirre
<i>Women</i>	263 Allyson Wong	654 Alyssa Chan	309 Alyssa Chan	822 Alyssa Chan
	253 Alyssa Chan	643 Allyson Wong	283 Allyson Wong	735 Connie Rosete
	229 Monica Kwok	596 Cel Healey	277 Dinna Delarea	733 Cel Healey
	222 Dinna Delarea	584 Monica Kwok	271 Monica Kwok	715 Allyson Wong

Individual High Averages

<i>Men</i>	223.31 Nicholas Lew	<i>Women</i>	191.36 Allyson Wong
	218.62 Duy Ton-That		168.42 Monica Kwok
	211.00 Bryan Kang		166.14 Cel Healey
	209.10 Joe Loo		154.03 Dinna Delarea

High Individual Match Points

<i>Men</i>	61 Albert Wong	60 Kody Fong	59.5 David Chen	57.5 Christopher Lim
<i>Women</i>	50.5 Dinna Delarea	48.5 Angela Morgan	45 Julie Murphy	44 Monica Kwok

Team Rosters

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears	
1 - Gutter Cleaners Lane 33 HDCP=0 Avg=576															
Monica Kwok	136	170	137	443	11116	66	168	168	41	161	229	271	584	713	
Walter Kwok	247	197	157	601	12849	69	186	186	27	186	247	275	660	741	
Justin Luu	185	278	236	699	7350	33	222	222	0	219	278	278	699	707	
Allyson Wong				0	8611	45	191	191	23	183	263	283	643	715	
2 - KC2 Lane 38 HDCP=16 Avg=517															
Cel Healey				0	6978	42	166	166	43	160	221	269	596	733	\$56.00
Connie Rosete				0	7894	54	146	146	59	147	210	270	555	735	
Ken Healey				0	12932	63	205	205	12	193	279	300	724	769	\$56.00
3 - Team 3 Lane 37 HDCP=0 Avg=537															
Alyssa Chan	145	158	112	415	8245	54	152	152	54	151	253	309	654	822	
Albert Wong	178	168	158	504	11264	63	178	178	33	173	247	283	626	732	
David Chen	240	188	256	684	14301	69	207	207	10	200	275	280	736	784	
Chris Villanueva				0	3779	18	209	209	8	209	259	273	691	723	
4 - Team 4 Lane 19 HDCP=0 Avg=537															
Aimee Majer	109	149	108	366	8144	60	135	135	68	141	181	249	464	665	
Lloyd Aguirre	195	221	246	662	8367	42	199	199	16	187	287	313	731	794	
Milan Majer	201	218	244	663	10988	54	203	203	13	204	266	282	718	766	
5 - Lucky Strikes Lane 41 HDCP=60 Avg=511															
Dinna Delarea	150	124	148	422	9242	60	154	154	52	158	222	277	546	705	
Ted Carroll	174	167	151	492	10797	63	171	171	39	164	253	296	608	737	
Benjie Aldeguer	146	152	225	523	10602	57	186	186	27	187	268	297	710	797	
Abe Lumba				0	3722	18	206	213	5	223	258	262	682	697	
Ferdie Dela Cruz				0	1058	6	176	bk197	18	197	212	230	569	623	

Wednesday 6:35 pm

Classic Bowling Center

Lanes 17 - 44

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg	HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears
6 - The Oneders Lane 20 HDCP=58 Avg=464															
Gloria Barbarotto	146	150	161	457	4812	37	130	130	72	122	166	238	457	676	
Vacant	v140	v140	v140	420	0	0		140	64	---	0		0		
Nick Cicibrk	236	192	184	612	12251	63	194	194	20	191	259	282	736	808	
Chris Kelly				0	9132	51	179	179	32	186	231	266	638	743	\$28.00
7 - It's How You Roll Lane 42 HDCP=0 Avg=586															
Dave Cheng	196	209	181	586	9851	54	182	182	30	182	255	287	649	745	
Jojo Chu	181	168	181	530	12341	63	195	195	20	193	267	286	690	753	
Joe Loo	a209	a209	a209	627	8782	42	209	209	8	199	289	297	760	796	
8 - Team 8 Lane 36 HDCP=0 Avg=520															
Stacy Mooney	184	158	129	471	7090	51	139	139	64	140	184	250	471	669	
Tony Wu	188	221	171	580	11359	60	189	189	24	182	267	294	686	767	
Andrew Soo	181	177	233	591	13298	69	192	192	22	177	257	283	670	748	
Justin Horng				0	1144	6	190	bk192	22	192	219	241	585	651	
9 - Triple Threat Lane 29 HDCP=115 Avg=433															
Tina Gonzaga	121	121	115	357	7495	63	118	118	81	116	161	243	412	661	
Linda Evangelista	102	166	161	429	7177	51	140	140	64	138	188	253	508	703	
Jonas Soriano	162	130	196	488	12018	69	174	175	36	185	234	268	615	723	
James Soriano				0	1071	6	178	178	33	---	202		545		
Rudolfo Del Rosario				0	2357	15	157	162	46	172	233	271	608	722	
10 - Great Balls of Fire Lane 17 HDCP=0 Avg=396															
Dave Franzoia	132	111	115	358	6406	51	125	125	76	133	166	235	424	652	
Mike Franzoia	125	134	123	382	9049	69	131	131	71	134	208	276	471	675	
Vacant	v140	v140	v140	420	0	0		140	64	---	0		0		
Brian Franzoia				0	1123	9	124	129	72	139	155	219	422	614	
11 - Team 11 Lane 39 HDCP=38 Avg=501															
Leanne Lay	116	99	132	347	8656	69	125	125	76	131	176	251	443	671	
Aaron Luong	173	214	244	631	12704	69	184	184	28	176	255	288	643	761	
Norman Ng	234	178	195	607	12680	66	192	192	22	184	245	273	673	745	
12 - Straight Shooter Lane 44 HDCP=0 Avg=547															
Rick Moy	a162	a162	a162	486	10753	66	162	162	46	160	203	251	550	703	
Kevin Fong	191	168	202	561	13194	69	191	191	23	188	268	293	643	718	
Gordon Hernandez	147	192	224	563	13401	69	194	194	20	203	247	265	688	748	
13 - Bowludos Lane 22 HDCP=83 Avg=433															
Chavo Rodriguez				0	2609	21	124	124	76	134	175	243	440	644	
Jose Cisneros				0	1898	14	135	135	68	143	190	251	439	622	
Jose Santos				0	8381	48	174	174	36	180	212	252	601	715	
Jason Ramirez				0	1435	9	159	167	42	177	200	234	545	647	
14 - Noot Noot Lane 27 HDCP=0 Avg=566															
Christian Manalaysay	188	173	226	587	11883	66	180	180	32	172	241	274	626	722	
Justin Lee	179	216	197	592	11405	60	190	190	24	170	257	297	682	755	
Kody Fong	191	156	182	529	13524	69	196	196	19	197	279	301	702	768	
Chris Nguyen				0	556	3	185	bk166	43	166	190	233	556	685	

Wednesday 6:35 pm

Classic Bowling Center

Lanes 17 - 44

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears	
15 - Sloppy Strikes Lane 23 HDCP=10 Avg=486															
Spencer Pon	191	159	194	544	7504	48	156	156	51	157	224	279	544	707	
Kenneth Nip	132	113	167	412	9121	57	160	160	48	146	237	280	567	704	
Andrew Tsui	156	216	168	540	10765	63	170	170	40	173	236	280	610	742	
16 - Team 16 Lane 34 HDCP=102 Avg=448															
Alice Maher	134	111	137	382	6988	50	139	139	64	134	181	245	493	694	
Lani Chin	114	152	127	393	9829	69	142	142	62	152	201	263	507	693	
Chris Love	147	149	207	503	11050	66	167	167	42	165	264	307	625	754	
Carrie Love				0	401	3	133	bk143	61	143	166	227	401	584	
17 - Yong Shi Lane 26 HDCP=136 Avg=404															
Keith Palmer	148	142	157	447	877	6	146	bk116	83	116	170	253	447	696	
Louis Chan	151	125	118	394	9599	69	139	139	64	148	209	266	510	702	
David Chan	156	145	167	468	9843	66	149	149	56	147	196	254	519	699	
Linda Chan				0	6178	60	102	102	94	108	155	250	357	642	
Veronica Cortez				0	420	3	140	bk115	84	115	147	231	420	672	
18 - Bowling Bad Lane 24 HDCP=0 Avg=499															
Christian Mamou-Batton	121	158	154	433	10494	66	159	159	48	152	206	255	550	697	
Jim Jensen	157	179	132	468	8676	60	144	144	60	148	217	278	523	706	
Grant Rezak	200	234	194	628	4126	21	196	196	19	---	257	282	674	749	
19 - B.A.M. Lane 43 HDCP=36 Avg=501															
Angela Morgan	177	116	151	444	9446	62	152	152	54	153	196	250	523	691	
Brandon Arnold	166	240	119	525	10584	67	157	157	50	154	240	290	595	748	
Michael Morgan	161	205	207	573	13262	69	192	192	22	192	279	303	696	768	
20 - Team 20 Lane 25 HDCP=0 Avg=574															
Dan Buckley	157	201	192	550	12404	66	187	187	26	190	246	276	686	767	
Robert Buendia	167	174	187	528	11288	60	188	188	25	183	246	265	665	737	
Matt Garet	227	245	158	630	8992	45	199	199	16	206	258	277	687	744	
Tom Diedrich				0	613	3	204	bk217	2	217	239	241	613	619	
21 - Team 21 Lane 31 HDCP=38 Avg=575															
Jimmy Yeung	162	174	151	487	8787	54	162	162	46	168	218	262	580	712	
Kevin Yeung	171	180	237	588	12057	69	174	174	36	181	260	291	673	766	
Daniel Chin	279	208	232	719	719	3	239	bk239	0	239	279	279	719	719	
Joseph Dela Cruz				0	2618	15	174	174	36	---	258	213	626	579	\$84.00
22 - 54%ers Lane 21 HDCP=0 Avg=537															
Clifford Yu				0	9799	60	163	163	45	158	245	289	560	698	\$28.00
Michael Huynh				0	8546	48	178	178	33	166	277	313	664	772	\$28.00
Benny Cheung				0	12357	63	196	196	19	192	267	283	716	772	\$28.00
23 - Three Aces Lane 40 HDCP=0 Avg=549															
Freddie Amoroso	a173	a173	a173	519	7822	45	173	173	37	173	235	271	576	690	
Alfred Amoroso	141	201	178	520	10089	57	177	186	27	196	244	271	643	724	
Anthony Amoroso	181	234	211	626	11415	60	190	190	24	186	279	306	658	735	

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears
24 - Team 24 Lane 28 HDCP=59 Avg=492														
Kaleomana Hayashi	a101	a101	a101	303	2340	23	101	101	95	___	158	256	387	681
Mike Kang	134	148	178	460	12423	69	180	180	32	166	264	295	612	730
Bryan Kang	202	244	172	618	13293	63	211	211	7	195	289	299	691	718
Andrew Allamby				0	5669	36	157	157	50	___	212	270	559	733
Nate De Guzman				0	533	3	177	177	34	___	201		533	
25 - Buzz Ballers Lane 32 HDCP=0 Avg=623														
Sergio Jordan Mungcal	194	188	265	647	11795	59	199	199	16	200	278	295	688	736
Christopher Lim	155	172	188	515	13923	69	201	201	15	192	297	309	689	731
Nicholas Lew	268	236	227	731	11389	51	223	223	0	227	280	282	774	774
26 - Murphy's Law Lane 18 HDCP=12 Avg=381														
Sarah Murphy	143	81	111	335	8122	69	117	117	82	110	156	239	404	651
Julie Murphy	132	144	103	379	7482	63	118	118	81	103	180	268	431	695
Justin Murphy	144	142	112	398	8325	57	146	146	59	126	215	286	553	733
27 - Team 27 Lane 35 HDCP=78 Avg=422														
Nicole Arima	103	106	123	332	6271	60	104	104	92	___	155	248	390	672
Christopher Rojo	a145	a145	a145	435	9194	63	145	145	60	136	236	297	579	762
Eric Dominguez	194	167	245	606	7802	45	173	173	37	163	245	284	617	749
Aaron Abueg				0	1524	12	127	127	74	___	179	241	408	609
Christian Rojo				0	1188	9	132	132	70	___	188		416	
Dominic Cagadoc				0	0	0			bk157	50	157	0	0	
28 - Team 28 Lane 30 HDCP=0 Avg=577														
Check Wong	148	154	164	466	9788	63	155	155	50	167	201	251	562	712
Jason Wong	a202	a202	a202	606	5674	28	202	202	14	195	247	267	683	740
Duy Ton-That	212	211	185	608	13117	60	218	218	1	222	278	278	732	732
Dio Doronio				0	9095	45	202	202	14	209	273	281	702	750

Lane Assignments

	<u>17-18</u>	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>	<u>35-36</u>	<u>37-38</u>	<u>39-40</u>	<u>41-42</u>	<u>43-44</u>
Wk24 02/25	10- 26	4- 6	22- 13	15- 18	20- 17	14- 24	9- 28	21- 25	1- 16	27- 8	3- 2	11- 23	5- 7	19- 12
Wk25 03/04	4- 16	8- 26	20- 27	2- 9	23- 22	5- 28	15- 24	3- 12	10- 11	6- 13	18- 21	1- 17	19- 14	25- 7
Wk26 03/11	8- 11	13- 16	6- 23	24- 21	27- 1	15- 19	2- 5	18- 7	4- 17	20- 26	12- 9	10- 22	28- 25	14- 3